
22

21

25

24

26

27

19

28
20

1

9
4

3

6

10

2

14
13

12

15

14
16

18

17

5

11

7

8

23

29
30

LOW FIXED HANDLE 
VARIANT (390S)

DRUM LINER
POS. ITEM NO. DESCRIPTION QTY.

1

907596 390 DRUM (GRAPHITE) - PROCESSED FOR LOW NECK AND SIDE TOGGLES (206022)

1907064 390 DRUM (YELLOW) - PROCESSED FOR LOW NECK AND SIDE TOGGLES (206022)

908404 390 DRUM (GRAPHITE) - PROCESSED LOW NECK (NO SIDE TOGGLES)

2 204111 50MM TWIN WHEEL CASTOR WITH PU TYRE 2

3 237120 HUB CAP 2

4 204104 8 INCH WHEEL 2

5 219881 M6 X 45MM SOCKET BUTTON HEAD SCREW 2

6 219008 M6 FORM G WASHER 2

7 219088 M6 NYLON INSERT NUT 2

8 237319 SYMETRIC HUB SUPPORT 2

9 206022 SMALL CLAW TOGGLE (ZINC PLATE FINISH) 2

10 219335 AVDEL RIVET 4

11 907489 HANDLE CAVITY PLUG - PART B (RIGHT) - 390 DRUM 1

12 303035 DRILLED DRUM FLANGE 1

13 202027 HOSE FLANGE GASKET 1

14 291152 NO8.1/2 INCH LG.T20.SCREW.Z/PL.PLASTITE 5

15 219003 M5 FORM A STEEL WASHER 1

16 206363 BLANKING CAP 1

17 219301 No6 X 3/8 INCH LONG POZI PAN SELF TAP SCREW 1

18 303037 BLANKING CAP FIXING WIRE 1

19 291082 #8 SCREW 1"L T20 PAN HEAD P/L THREAD FORMING 2

20 907584 HANDLE CAVITY PLUG - PART A (LEFT) - 390 DRUM 1

FOLDING HANDLE VARIANT (390L)

21 907091 FOLDING HANDLE - 390 DRUM - FOLDING UPPER 1

22 206295 PLASTIC SADDLE FOOT 2

23 219417 UNIFIED M/C SCREW INSULATOR 4

24 - 22MM ROUND RIBBED INSERT (111038) 2

25 907575 FOLDING HANDLE - CROSSBAR (GAS INJECTION) - 390 DRUM 1

26 219802 M6 CONNECTING SCREW 2

27 907600 FOLDING HANDLE - 390 DRUM - FIXED LOWER WITH METAL BRACKETS 1

28 907586 FOLDING HANDLE - SECURING CLIP 2

LOW FIXED HANDLE VARIANT (390S)

29 907506 FIXED LOW HANDLE - 390 DRUM 1

DRUM LINER

30 908340 DRUM LINER (COMPATIBLE WITH 370, 380 AND 390 DRUMS) 1

Numatic International Spare Parts
Model No: DRAWING: DRW-27239    ISS:A14

Numatic International Spare Parts
Model No:DRUM STYLE 29 - 390 DRUM (LOW NECK & FOLDING 

HANDLE / LOW FIXED HANDLE) - EXPLODED DIAGRAM
DRUM STYLE 29 - 390 DRUM (LOW NECK & FOLDING 
HANDLE / LOW FIXED HANDLE) - EXPLODED DIAGRAM

907630; 908361; 908362; 
908402; 908400;

Internal Code:

PP


	Sheet1
	Drawing View3
	Drawing View4
	Drawing View5


